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(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
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(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet
Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C) and (D). You have to darken the oval as indicated below on the correct
response against each item.
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5. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — Il only. If you mark your response at any
place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

6. Rough Work is to be done in the end of this booklet.

7. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the space
allotted for the relevant entries, which may disclose your identity, or use abusive Ianguage or employ any other unfair means, such as
change of response by scratching or using white fluid, you will render yourself liable to disqualification.

8. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and must not carry it
with you outside the Examination Hall. You are however, allowed to carry original question booklet and duplicate copy of OMR Answer
Sheet on conclusion of examination. &

9. Use only Blue/Black Ball point pen. %

10. Use of any calculator or any electronic devices or log table etc., are prohibited. &

11. There shall be no negative marking.

12. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final. &
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1.

EDUCATION
Paper - i

Who among the following is not a follower
of Pragmatic Philosophy ?

(A) Kilpatrick

(B) Pestalozzi
(C) John Dewey
(D) William James

. According to Vedanta philosophy nearest

‘Kosha’ to atman is called
(A) Anandmaya Kosha
(B) Manomaya Kosha
(C)

(D) Vigayanmaya Kosha

Pranmaya Kosha

. Yoga transforms the human kind, life and

body to superman. This philosophy was
given by

(A) Rabindranath Tagore
(B) Aurobindo Ghosh
(C) Swami Vivekananda
(D) Mahatma Gandhi

. Who said, “Reverse the usual practice

and you will always do right” ?
(A) Plato

(B) Dewey
(C) Rousseau

(D)

Mahatma Gandhi

1. dlRAaniie el wgserRyId]
dcdstioiol igAiRfl oefl 7
(A) (bauls
(B) RwRlA®
(C) %@l syes
(D) Ry A

2. deid Mugdl UHIA “viicddt’ ofl
Aell civse) 8inal st D.
(A) dlloiedy SN
(B) Holaid 8N
(C) M1y SN
(D) Rustietain 8NN

3. A1 Aoy, Vet el URa
ltatioles (Gt Hioia) i wied .

1 decigliof ¥ v &g 7
(A) eflogoli® 2202

(B) MO O

(C) =aifl [4dsidie

(D) HeicHl el

4. DA s&y &g, ‘Ailcy ALERG
G2 Via dd & ARy sAN.’ 7
(A) @A
(B) sy¢
) ¥

(D) AgicHt el



5.

Which branch of philosophy examines
issues pertaining to the nature of reality ?

(A) Axiology
(B) Ontology
(C) Epistemology
(D) Metaphysics

. Religious education is strongly

advocated by
(A) Realists
(B) Pragmatists
(C) ldealists

(D) Existentialists

. The pragmatists are against

(A) The specialists teachers
(B) Eternal spirituél values

(C) Division of knowledge into separate
subjects

(D) The external examinations

. Who said, “No fixed aims of education

and no values in advance” ?
(A) Realists
(B) Idéalists
(C) Marxists

(D) Progressive educators

5. didlisdl A1 AsnR—_AA M=ol
Aw efoigiiolofl 8 AMI 83 & 7

(A) yea Hlain
(B) A1 Al
(C) stiet i
(D) uRAcctcuelull

6. — sl dIfis Riziere
Hvefd [Batid sAIAT 241df) B2
(A) qrRdqqI€lA)

(B) cadgRUI€A)
(C) lieldidl)

(D) vRAcaél

7. AAGRAYIERN o
Rizaaii B 2

(A) [iyelid (iRive) Rizis)

(B) RuIdd ViigAIlAHS YR

(C) sliolg] icdI-vicd! Ryndai
Ricuivflswe

(D) ofigd YA

8. 91 sy &d, Rizieig Y [Efua

dai dell ua Nl Y e
aell’ 7

(A) dirdqdidli

(B) Ml

(C) MSAUIE]A

(D) walaha Rigis)




9.

10.

11.

12.

To which religion the ‘Tripitaka’ scripture
related ?

(A) Vedic religion
(B) Buddhism
(C) Jainism

(D) Hinduism

The correct sequence of the following
words in the Preamble to Indian
Constitution is

(A) Sovereign, Democratic, Socialist,
Secular, Republic

(B) Sovereign, Socialist, Secular,
Democratic, Republic

(C) Sovereign, Socialist, Democratic,
Secular, Republic

(D) Sovereign, Secular, Democratic,
Socialist, Republic

The ‘National Knowledge Commission’
was constituted on

(A) July 13, 2005

(B) June 13, 2005

(C) August 13, 2005
(D) September 12, 2005

DIET’s were established on the
recommendations of

(A) Kothari Commission 1964 — 66
(B) National Policy on Education 1986
(C) National Knowledge Commission
(D) National Policy on Education 1968

10.

9. ‘Bify2s)’ AR~ sy 93 A8
NsiAg B ?

(A) ks gal
(B) oj¢ €l
(C) Foi €@af
(D) [Eg @3l

cirdly cigreiai oA Yvenddg
UGN A1) s34_____ B,

(A) Aidea, disigl, vAIwaie],
fioiuivelis, M¥IRIdIS

(B) Aidaia, AivaIél, Riaiveilis,
d1sA1g], UXIRAIS

(C) AWdelat, AIwvdId], Aisuigl, Riol
Adineis, uvRIdIs

) AdAla, Rioriveifs, disudl,
AAIYAIE], UFIRIdIS

11. A stlal RN Nl
oll 4 ¢ &dl ?
(A) «¥digf 13,2005
(B) o113, 2005
(C) 2i2Ive 13, 2005
(D) A3eR 12, 2005

__ ofl cicideNa sRVA
DIET’s ofl 28Il & ?

(A) 81611 RN 1964-66
(B) axdla Ruzierofllt 1986
(C) WA siot I3

(D) Acdla Riziet oflfa 1968

12.




13.

14,

15.

National Knowledge Commission was
headed by

(A) C. L. Anand

(B) Sam Pitroda

(C) Yash Pal

(D) D. P. Chattopadhyaya

Secondary Education Commission was
established on

(A) September 23, 1952
(B) September 23, 1953
(C) October 23, 1953

(D) November 23, 1952

Which combination of the following
factors tend to slow down the progress
in education in India ?

1. High interest rates on educational
loans.

Regionalism.
Urban way of life.
Ethnicity.

Less emphasis on training of
teachers.

A

6. Scarcity of ICT resources in
schools.

(A) 1,2,3and 4
(B) 2,3,4and 5
(C) 3,4,5and 6
(D) 2,4,5and6

13.

14.

15.

gy stiol 24l S|
———— &di?

(A) A.Ad. Alde
(B) A Ru=Nsi

(C) VA

(D) 4.1, Ui

ol (ka4 Aiculds

Rizgiel N300l WUivett Ug &dl.
(A) ALIR 23, 1952

(B) AR 23, 1953
(C) ¥MsdleiR 23, 1953
(D) «1d3oiR 23, 1952

ofiAetl URGNHIE 8Y Aoyl

oliRaAi Rizieiof]l Maifaa €l
s 97

. Qaiftais s1e1 (Alel) uz 6N
1 ER

YLz @scllelle
ool d dd

cdellaiell
Ri218)ofl dicfloi U A GIR

QININAH] [CT ol Aettell
Guery

(A) 1,2,3 va 4
(B) 2,3,4ud 5
(C) 3,4,5a 6
(D) 2,4,5 % 6

-

o o0 &~ b



16.

17.

18.

19.

Project method of teaching is an
outstanding contribution of

(A) Pragmatism
(B) Idealism
(C) Realism
(D) Naturalism

Play-way method of teaching has
been emphasized in the scheme of the
education of

(A) Realists

(B) Pragmatists
(C) Existentialists
(D) Naturalists

Studies on political and social inequalities
in democracy show that

(A) Dictatorship is better than
democracy

(B) Inequalities do not exist in
dictatorship

(C) Inequalities exist in democracy
(D) Democracy deters development

Which of the following refers to the ability
of human to contribute to the process of
value addition in the Indian economy ?

(A) Human Resource
(B) Human Capital
(C) Human Capital Formation

(D) Human Development

16.

17.

18.

19.

(D) toidt [sIRe

usey UglaA ol

Begee §IN B 7
(A) RAYGRUIE
(B) @ieldie

(C) aRrdudle
(D) usglaqie

ofl Rigi1 Aevol i

Ve Yolofl Wd (Play-way) ugld

U2 GIR HSUIH 2iicA B 7
(A) rdaatglul

(B) qgRAIEA

(C) ARdcadél

(D) uglacqiélN

Aisndlai Avalis a HIKE
AAIoAdl U2 A vieAR) £ld B 3

(A) A1l sl AYuicARAE]
Uil B

(B) UuicuRMENAI iReIsiclig]

Rdcy a2l
(C) Asdaii vAAloldle] Vildcy B

(D) A1s2nél usiRia viesid 8

A Aowniel Y ciRc1A v d=4ai
HEA 4G sAUMHL Hlotdof]
23dldll 51900 GeQui 53 B 7

(A) Hloid A€ol
(B) Hioid gl
(C) Hiad sl [t



20. The Provision for Right to Education Act
was made by which Amendment in Indian
Constitution ?

(A) 42" Amendment
(B) 43 Amendment
(C) 86" Amendment
(D) 88" Amendment

21. Which of the following is true in relation
to special school ?

(A) Special children have to be adjusted
with school environment

(B) Normal students are also taught for
sometimes in special school

(C) Teachers are not given special
training to teach special children

(D) It is not mandatory for children of
special schools that they study in
main stream schools for some days

22. Which are the ways of curricular
adaptation in the context of inclusive
education ?

(A) Assimilation and modification
(B) Modification and accommodation

(C) Only modification

(D) Assimilation and accommodation

20. ciRdlY cigRedi Z2diHi YaRr
&R ‘Rizieie) AusR Afloraun
ofl NI s Al 8 2
(A) 42 A YR

(B) 43 A YR
(C) 86 A YaR
(D) 88 A YaR

’

21. [uRe e Aeelai olAaaiel
gAY B 7
(A) RRe oS latali didigrel
A AUgEAd ag y3 3

(B) AHIoA clinglal yel &S AHA HI2
faRive i Rigier 2ivgii
219 8

(C) RuRivz cling)al Riatel gl A1
Rizisla Rikie didla 2y
Alqd] «i?ll

(D) RiRve 2ol Glln8) Alsi Ry
HIZ2 Yo Ndlgell AINAHT AR

83 A MriId Ag ol

22. AHIAUs Rigiloll 4l
RARISH Vioj5clotell Ad) 8¢ B 7

(A) YRV vid yRada

(B) uRddol Al dgNcl 2&IYol

(C) §8c uRddof
(D) URVIU0 Vial deoAUdI 2ol




23.

24,

25.

Which of the following is false in the
context of inclusive education ?

(A) Parents of all students are given
special training to deal with their
children

(B) Slow learners are also given
admission in inclusive school

(C) Cooperative learning strategy is
adopted in inclusive education

(D) Special children study in main stream
school

Which of the following is not an advantage
of inclusive education ?

(A) All kinds of the children are given
equal opportunity in education

(B) Progress of all kinds of children is
done at the same level

(C) Healthy sense of citizenship is
developed among the students

(D) Positive attitude for one another is
developed among the students

In which year the Rehabilitation Council
of India was set up ?

(A) 1992
(B) 1995
(C) 1993
(D) 1986

23.

24.

25.

AHIAUs Riziloll AeclHi
oflAatiziell gj VI B 2

(A) d¥H Quelldou dicfiRAla duetl
Glln8) A cAUEIR 59| Hidol]
RiRse dicla g 2419 8

(B) 3ediftoll AR yeI AHIUS
i uAy ANgIH d B

(C) ANIAs Riri ap&il €AYl
c2jgUoll VdlldaIHi 2419 B

(D) RRvz clind) v Mgl A
EYRI &2 B

ol Aetiatie 18 Rizieled dicd
s odfl 7

(A) ddIA usRei clindlal Rizietol]
Adlol a8 Yy uisdii 2413 3

(B) 1N MUSReli olinSlal [USIR Aol
s2IA YA 8

€) MueneflNati andIREcoll dgrd
cligatiol [usi 4Rl B

(D) RyeneflAai Bsollvl U &sRIcHS
qdelel Risix 4y 8

eiRdlx YoidRiol uRnedll 2Uol!
sa1q¥ ag &dl 2

(A) 1992
(B) 1995

(C) 1993

(D) 1986
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26.

27.

28.

In which of the following itis mentioned that
“by 2010, gender based difference will be
eliminated in primary education” ?

(A) RMSA
(B) SSA
(C) RTE
(D) RCI

Instead of focusing on disability of a
disable person, which of the following
focuses on abilities and functioning of
disable person in his own environment ?

(A) ICF

(B) UNCRPD
(C) UGC

(D) MHRD

Whose information is recorded and
maintained in ‘Central Rehabilitation
Register’ ?

(A) Disable students

(B) Teachers

~ (C) Professionals working in the field of

29.

rehabilitation and special education
and having the qualification of the
same

(D) All of the above

In which year, the Rights of Persons with
Disability Act was formed in India ?

(A) 2014 (B) 2015
(C) 2016 (D) 2017

26.

27.

28.

29.

(©) 2016

oflAatiaiefl ai AN GeAY s3]
e B 3 ¢ 2010 Yeflaii wialhs
Rizieiai a1 vliEnRd dsiad &2
88 a1’ 7

(A) RMSA

(B) SSA

(C) RTE

(D) RCI

uean <AfBdedl A2iHdIa Bogai Avidia
oied oflAonniell gj i2iH culbdo

ldloll qidiaRRINi Qofl 21HdIRA A
sriuendl (Functioning) o 3ogai
A 87

(A) ICF

(B) UNCRPD

(C) UGC

(D) MHRD

A1 YoidRial %2223 Slof] Ailkdlof)
ol &Rl 8 al M 2419 B 7
(A) 2t RaiellA)

(B) Rizid)

(C) yadol 2id RiRde Rizieicti A3
SIH Sdi va A A2l dIAsId
ERIYdl gR(RA)

(D) @GuRell I

eliRdAHi 51 9 ‘Rysdidiveial villusi2
luloan’ of] Uil s2413f 211 7

(A) 2014 (B) 2015
(D) 2017

,




30.

31.

32.

33.

9 v
i woy % ¥

Which of the following was formed to
review and modify National Education
Policy 1986 ?

(A) NEP 2020

(B) Programme of Action, 1992
(C) PWD Act, 1995

(D) RPWD Act, 2016

Which of the following is not primary law
of learning propounded by Thorndike ?

(A) Law of Effect

(B) Law of Associative Shifting
(C) Law of Exercise

(D) Law of Readiness

Which of the following is not the
characteristic of creativity ?

(A) Person’s ability to think freely
(B) Ability to memorize
(C)
(D)

D) Ability to come out with novel ideas

Flexibility in thinking

Humanistic approach of counselling was
first developed by

(A) Jean Piaget
(B) Lev Vygotsky
(C) Carl Rogers
(D) Sigmund Freud

{ershideis k

30.

31.

32.

33.

AN Rigier ol 1986 ofl 2l
sdlal Al YD sl HI2 ofiAtiaiiel]
2liof) Ruall sl el &dl 2

(A) NEP 2020

(B) M2t g Vs, 1992
(C) PWD Act, 1995

(D) RPWD Act, 2016

ol Aaiiaiel vicoio s UIARS ([H1A4H
Adfsigfs siRl 2% 8T I of &l 7

(A) ViAo [

(B) &8I Widlida [

(C) A€y (YotRidiclol )oll fottat
(D) cedRellell (A

ofiActiaiell 8y ATallcHadIg] G2l
oiel 7

(A) <albaoll #sd Ridaidfl 2iatdi

(B) AUIE Avidiofl etaiall

(C) Rdeui dalusdi

(D) otel RIuUIA A1 GlER ticaioll edal

v2agloto) aloiddiciiél ifiora A
uddl w2t 4sRia ) &d) ?

(A) 9 R41¥
(B) Qg aiac4l

(C) siId A=A
(D) Ryanis fefs




34.

Which psychologist wrote ‘Experimental
Studies of Perception of Movement' ?

~(A) E. L. Thorndike

35.

36.

37.

38.

(B) Max Wertheimer
(C) Lev Vygotsky
(D) Jean Piaget

The states of psyche designated as id,
€go and super ego are given by

(A) Carl Rogers
(B) Sigmund Freud
(C) Jean Piaget
(D) R. B. Cattell

Gardner’s theory of intelligence is
known as

(A) Two factor
(B) Multiple intelligence
(C) Structure of intellect
(D) Multi factor

Who coined the name of mental age ?
(A) L. M. Terman

(B) Alfred Binet

(C) Wilhem Stern

(D) D. Weschler

Which among the following is not an
element of motivation ?

(A) Need (B) Drive
(C) Motive (D) Education

34.

35.

36.

37.

38.

‘Experimental Studies of Perception of
Movement’ sl 31oQs1fo13 cive &d ?

(A) ¢-Ad Adisigs
(B) A5 qdlaR

(C) A4 urRINRE

(D) Kol Ruu1

cletrel, V16N Vil ilUAEHAI o1}
Hlollis URRaRIY olldisel

s &d 7

(A) sid A¥A
(B) Rivndis 3
(C) Pyat Ru1®
(D) ARl 3ea

Méolrell off3ell Rsict
SN 1 P ER E
(A) % uesly
(B) wiglQuoffi
(C) Yl&ej Moy
(D) ciguzdly

HlolR48 g ol S1E Y &g 2
(A) Wd.AH. 2

(B) icgS Ria

(C) Rucea ol

(D) 8l.AuaR

oflAonaie 2w ues 53 a2l 7
(A) ¥3RAId (B) ghel

(C) s (D) Riztel




39.

40.

41.

42.

43.

Social cognition is subtopic of
(A) Para psychology

(B) Clinical psychology

(C) Social psychology

(D) Educational psychology

Programmed instruction is outcome of
research conducted by

(A) Thorndike, E. L.
(B) Skinner, B. F.
(C) Watson, J. B.
(D) Pavlov, lvan

According to NCF 2005, leamingis ___.
(A) Teacher centric

(B) Learner centric

(C) Burdensome

(D) Textbook centric

Justice Varma Committee Report
suggested reforms in

(A) Vocational Education
(B) School Education
(C) Technical Education
(D) Teacher Education

NISHTHA programme aims at improving
the quality of __ .

(A) Policy makers in Education
(B) Planners in Education
(C) Teacher Educators

(D) School Teachers and Heads

e

39.

40.

41.

42,

43.

AAIXS sllof
(A) dRieN[Ustiol

(B) RAeifeis sHolistiol
(C) AAIfys AoNlusiiot
(D) azifeis Aalustiol

ob U2I AsH 8 ?

ufdishid vigeal

s UAd AMeloio uReRNH B,
(A) Adsigs, ¢.Ad.

(B) oz, ofl, A,

(C) digRidl, R.0]l.

(D) Qacld, gdlal

NCF 2005 MHIQ . AHEAYof
3.

(A) Riziel 3odl

(B) EAdI 8od]

(C) ®MRAIq

(D) VIsUYdS Sod

ofted gl Al
A Yurl Yucar 8.

(A) digRAifus Rizie

B) Wou QRawt

(C) agladl Rizie

(D) Rizis Rigie

NISHTHA siis3o) &g ofl
Jeiddl gaRdle) .

(A) Rizieii oflfa aks)

() Riziai 21Nws)

) Ras Qaw
Al Rizs) id ANl ds)



44.

45.

46.

47.

NCFTE recommended changes in the
curriculum of

(A) School Education
(B) Technical Education
(C) Vocational Education

(D) Teacher Education

For coordination, determination and
maintenance of standards in higher
education, an apex body is

(A) AICTE
(B) NCERT
(C) UGC
(D) NCTE

Which organization is not providing
in-service education to school teachers ?

(A) DIET
(B) SCERT
(C) UGC

(D) NCERT

Which Commission suggested for
opening up of post graduate department
of education in Universities ?

(A) University Education Commission
1948 - 49

(B) Kothari Commission 1964 — 66
(C) Secondary Education Commission
(D) Sadler Commission 1917 - 19

44.

45.

46.

47.

AdRYU A

NCFTE ol

UAIRAsHAI YRdde 52914
acHel 8d sdl ?

(A) WL @l

(B) asladl Riziel

(C) cuam@s Rigiel

(D) Rugis Rize

G Rigiioll Relg Risdd,

2dal 210 wigel  sqidll
8.

(A) AICTE
(B) NCERT
(C) UGC
(D) NCTE

s¢ A& Waldl Rizida A

sidla aidlat 2iudl a2fl 2
(A) DIET

(B) SCERT
(C) UGC
(D) NCERT

RiraficicNai Qagel uerelids
Ricio) 3 sRalg Yua sl
RN 8y &g ?

(A) =g uiga Rizier sl

1948 —49

(B) 816K 1M1 1964 -66

(C) aieaulds Rzl 1N
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48.

49.

50.

51.

dlerhifere

An effective teacher is in
nature.

(A) Autocratic
(B) Authoritarian
(C) Democratic
(D) Laissez Faire

Which of the following is not true in case
of blended learning ?

(A) Mixed mode learning

(B) Hybrid learning

(C) Online and in-person learning
(D) Mobile learning

Which of the following is not method for
examining collaborative learning ?

(A) Conversation analysis
(B) Statistical analysis
(C) Discourse analysis
(D) Meta analysis

Which of the following factors influence
curriculum change ?
Select the appropriate codes.

. Growth in knowledge

-

. Technology change

. Availability of competent teachers
. Needs and aspiration of people
Codes :
(A) 1,2and 3
(C) 1,2and 5

2
3. Job-placement
4
5

(B)2,3and 4
(D) 2,4and 5

48. viAsRs Rizis 46
au 9,
(A) Asdfl
(B) urucuél (RHYVIAR)

() disudl din
(D) &dAV 2Wkd

49. 6Qo3s dlellei 2iceldi oflAaaiell
g ARy o ?
(A) Ri3 MsRRe| NEAAo!
(B) &igedls icuAal
(C) Noldigel Vial JUIHL ViAol
(D) ANcigd ViEAYal

50. AGMNYEI ViEAAo 8aAl Hiof]
oflAaiaiel s uala o2l ?
(A) deiner (diadla) Ri=dwe
(B) dissiriAla H=aue
(C) didldaiy [y»due
(D) 2l R2Auen
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52.

53.

54.

55.

56.

Identify three most crucial stakeholders
from the following to ensure sustainable
change in curriculum.

Select an appropriate code.
. Students

2. Teachers

3. Parents

4. Educational authorities
5. General public

—

Codes :
(A) 1,4and 5 (B) 1,2and 4
(C) 1,3and5 (D) 3,4and 5

The model of behavioral objectives of
curriculum evaluation was presented by

(A) Stuffle Beam (B) Hilda Taba
(C) John Dewey (D) Tyler

In which of the following approaches
to curriculum design, constructivist
orientation will be manifested ?

(A) Evaluation approach of curriculum
design

(B) Job analysis of learning tasks

(C) Input process emphasis on curriculum

(D) Concept mapping as a tool for
curricular choice

In CIPP model of curriculum, which one
of the following is based on interactive
modes of relationships ?

(A) Context (B) Input

(C) Process (D) Product

In which of the following models of
curriculum evaluation, the curriculum
objectives are obtained from the students
society and the subject matter ?

(A) Objectives-Centred Model

(B) Congruence-Contingency Model
(C) Goal-Free Model

(D) Effectlveness Model

52

53.

54.

55.

56.
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3. didlN

4. Paif2ais Al
5. AlAlod Yoldi

RU8d :

(A) 1,444 5 (B) 1,2 ¥d 4
(C) 1,30 5 (D) 3,4 ¥ad 5
UCARISH HAisolg] ‘ddaidié] g
Mlualol’ %y 84 &d.

(A) 2280 ollR (B) fkesi dluR
(C) ¥QeYSA (D) atuad

ACARISH WWUallell of1A Fendaied]

521 U@L AU 1GIE] A Di3guic
M2I2 Y 7

(A) AcAIRISH Waliol) HeAisol 11213

(B) ituda sidle] sid 2avel

(C) ourisH uz [ed ulbig o

(D) eAResHol yieaNai Gusze
i3 2iscudi AHIyal

CIPP Mfaaiieiaii oflQatiaiiell g
oieNofl UictABaucs Ad u2

AUdiRd B 7
(A) 2deol (B) (61921 (gory2)
(C) ulkai (D) oflux

oflAatiAiel] VICAIRASH 3CAiSololl SAI
Ml veARIsHI B
RicnieflA), A1 2ial Rya-
AAliel Angqini w9 372
A) 8d - Bloga Mltatiol

) Heudi- MRIPIsdl Mldailot

C) €Ay - Y5 ula3iiol

(
(B
(
(D



57.

58.

The primary aim of supervising/
cooperating with the teacher educators
in the education of ‘Student-teachers’
is most appropriately described as ___.

(A) Setting a good example for the
‘student-teacher’ to follow

(B) Helpingthe ‘student-teacher’ develop
effective ways of teaching

(C) Determining the educational
philosophy to be implemented by
the ‘student-teacher’

(D) Providing the student-teacher
with information on classroom
management techniques

Which one of the following is not true about
the difference between formative and
summative evaluation of curriculum ?

(A) Formative evaluation provides instant
feedback on students’ progress
whereas summative evaluation waits
till the end to access students

(B) Rubrics are used in summative
evaluation but not in formative
evaluation

(C) The goal of formative evaluation
is the grading and promotion of
students, whereas the purpose of
summative evaluation is to improve
teaching learning process based
on the feedback of the students

Summative evaluation pays attention
to the outcomes as measured by
performance markers while formative
evaluation focuses on the ongoing
learning process

(D)

57.

58.

Rets yRawe, « Qeats yRasle Rilagt
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59. Which one of the following sequence is
correct for 5Es model of teaching ?

(A) Explore, Explain, Engage, Elaborate
and Evaluate

(B) Engage, Explore, Elaborate, Explain

' and Evaluate

(C) Explore, Engage, Explain, Elaborate
and Evaluate

(D) Engage, Explore, Explain, Elaborate
and Evaluate

60. A group of teachers cooperatively plan
the best learning situation for a particular
student, discuss the plan with the
student and have the student sign the
written plan. Which of the following best
describes this process ?

(A) Individualizing unit teaching
(B) The contract method
(C) Programme instruction

(D) Team teaching, individualized
instructions with contract method

61. Torespondtoa particular statement of the
attitude scale 40 subjects have selected
the option “Agree”, 90 have selected
the option “Neutral” and 80 subjects
have selected the option “Disagree”. If
Chi-square is calculated for this data by
equal probability method, what will be the
expected frequencies for each option ?

Agree Neutral Disagree
(A) 70 70 70
(B) 210 210 210
(C) 336 142.8 33.6
(D) 35 35

35

59. ubauugw 5E M[talotonl 240l
olQAatiatieN s s 2412)) 87

(A) Explore, Explain, Engage, Elaborate
and Evaluate

(B) Engage, Explore, Elaborate, Explain
and Evaluate

(C) Explore, Engage, Explain, Elaborate
and Evaluate

(D) Engage, Explore, Explain, Elaborate
and Evaluate

50 Riaidlg s e wssidl A3 g
As dssA Rarell a2 Jos
€AY URRURIY 2RNval 53
8, el N3 vl »id) yauf
8 3, ua Rl N3 Aftig
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U 211 b A qpfy 83 B 7

(A) 2sH ey calbasae

(B) iofsi€l (Contract) ygfy

(C) ilbisfid 2to2eian

(D) «¢& (Team) WA A, Afoig ygfy
A1 AGNIUA BofR glot

61. dawr AEsan As Pyg Rsgiotal
MAauR w9l HIZ 40 YD “Aad
Risey yRie 3T, 90y ‘d2y”
Risey u2ie s3AT 249 80 \T[ENER]
“URIHA"RISEY yRie 5T, 24 yg
HIZ RAdlel Acidel) AQ Y goTel]
Aeladl sl A1 ), s Rysey
12 R0 wgR 2efl 4 7

AAd dey RAAd
(A) 70 70 70
(B) 210 210 210
(C) 33.6 142.8 33.6

(D) 35 35 35



62.

63.

Match the following and select an

appropriate code.
Section - A Section - B

1. Case study i. Triangulation

is its type
2. Narrative Research ii. Only

Design quantitative
data are
collected

3. Mixed Research iii. Diagnosis of
method the subject is
done
iv. Life
experiences
of the
subjects are
focused
Codes
1 2 3
(A) iii i i
(B) iv i i
(C)iii v i
(D) ii Wi v

In which research design, cycle of
data collection-analysis-interpretation
continues till satisfactory results are
obtained or till probability of data collection
becomes zero ?

(A) Grounded Theory Design
(B) Narrative Research Design
(C) Experimental Research Design

(D) Causal Comparative Research
Design

s

62.

63.

1SSi ol 2ia A3 24Bd Uie 8.

Rici191- 2 Rioi101- o
1, culld veARA 0. BiSiefswel
A dell
usik 9.
o s8lcHs AWMl i, §8d ULAUs
Aleyoll Ugl As
CEL RN
wa B.
3. A dgluel iii. VIGAIRAIIY
ugld [Aela SJAIAI
A1 8.
iv. 2AGAIRAINl
Dol igieidlal
Sogdi AvigIAi
g 8.
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1 2 3
(A) i 0
B)iv i i
©)ii v i
) iii i v

s¢f AMeol Avallai, AAMERS
yRee HA i Yl vl vert
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64.

65.

66.

If the F value is found 16 by ANOVA for
the scores of male and female teachers
in a personality test, then what will be the
1t value for the same data ?

(A) 16
(B) 4
(C) 64

(D) None of the above

Which of the following test should be
used to test the hypothesis : “There is
no significant difference between mean
scores of the students of Grade IX and X
of Rajkot City in value awareness test” ?

(A) One Tailed Test
(B) Two Tailed Test
(C) Chi square Test

(D) Pearson’s Rank Correlation Test

If calculated ‘' value is found 2.13 while
testing the null hypothesis for df = 30,
what decision should be taken ?

(A) Hypothesis is not rejected

(B) Hypothessis is rejected at 0.05 level
of significance

(C) Hypothesis is rejected at 0.01 level
of significance

(D) (B) or (C)

64.

65.

A As Albdey 5N Y3u 24a)
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Yed HiZg) ‘t7 YA Y HAQ 7
(A) 16

(B) 4

(C) 64

(D) Guaiell As yei ol

AwSIR AR R 1X A X ol
RianelfANon yeawieifa s el
ARIY UNAiS 9 s dsldd
oell. 211 Geseuotioll uUsiiCN s
AR ol Aaivie s¢ 5NN Gyl
) NgA 7

(A) s Yl sAd

(B) lstyel s:M

(C) s1g 4ol 820

(D) Radatoll sais usicia s0d

66. As Yo Bescudiell uUsiARN sl

WA A df =30 #12 t of AN e

21340 A g el A A,

(A) Bescyole) idIsR ad) el

(B) 0.058211IRA BcsCudlal i2d1SIR
qA B

(C) 0.01 521 GBeseuailol dsR
a4y 8

) B) wieial ()

=




67.

68.

Match the following and select correct
code.

Section—- A Section—-B

Distance
between Surat
and Vadodara

1. Nominal Scale .

2. Ordinal Scale ii. Used only in
qualitative
research

3. Interval Scale iii. Division of

subjects on the
basis of their
gender

4. Ratio Scale iv. Ranks given to
the students on
the basis of their

results in exam

v. Scores obtained
by the students in
reasoning test

Codes :

1 2 3
(A) ii i v
(B) i i v
()i v v i
(D) ii v v i

Which type of the hypothesis is

“Adjustment level of post graduate
students of science is higher than that of
undergraduate students of science” ?

(A) Null

(B) Non-directional
(C) Directional

(D) Both (A) and (C)

67.

68.

(D)

iAot Nssi NS i ARN Ad

yie 5.
RiciIo1- A fet191- o
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69. Which type of the hypothesis is :

“There is significant difference between
mental stress of government and
non-government employees” ?

(A) Non-directional
(B) Directional

(C) Null

(D) Both (A) and (C)

70. Read the following statements carefully.

i. Data are obtained in interval scalein
qualitative research.

ii. More than one research tool can be
used in qualitative research.

iii. More than one research methods
can be used in any single qualitative
research.

Which of the following codes is correct ?
(A) Only statement no. i is correct

(B) Statement no. i and ii are correct
(C) Only statement no. iii is correct

(D) Statement no. ii and iii are correct

71. Portfolio assessments can provide
opportunities for monitoring
progress towards identified outcomes.

(A) Formative
(B) Summative
(C) Both formative and summative

(D) Diagnostic

69. “81d) 3 Rioizizsd saluifleioll
HlelRis diel 923 A1eds dsiad D,
I 841 USRdl Geseyal B 2
(A) Raailk2ijus

(B) Rurjus

(C) 8Jed
(D) (A) ¥4l (C)
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72.

73.

74.

Reflective journal does not include

(A) Reflection on actions
(B) Reflection in action
(C) Reflection for actions

(D) Reflection of action

Which among the following is not the

objective of pedagogic analysis ?

(A) Toanalyse the curricular content into
meaningful components

(B) To anticipate comprehensive
instructional objectives for each
component

(C) To improve rapidity of learning
outcomes

(D) To design appropriate objective
based learning experiences for
different stages and contents

Which among the following is correct
sequence of reflective level of teaching ?

(A) Focus, syntax, social system and
support system

(B) Focus, social system, syntax and
support system

(C) Focus, social system, support system
and syntax

(D) Focus, support system, syntax and
social system

72.

73.

74.
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75. Competency based assessment is the 75. 2Addl AR YeAisol A UAdloll

process of ______  on the character URA ol AR 3o1f) drgell

and scope of learner’s progress towards ViAol uAMHoll — d

professional standards. M 8.

(A) Collecting evidence and establishing (A) WA, A5 s2<f] 1A diRE)
conclusions 2¥UId 541

{B) Developing communication skills (B) =idner ol ~isia

(C) Evaluating and revising rubrics

(D) Write a description for each (© Yiis 4 yRusai YR setel

performance level - (D) s1fldlell €35 seilgf qelol Gvialof]
76. Which elements are included in 76. HeAisol Pislerai saA1 wzSlo a1
assessment triangle ? au d 7
(A) Cognition, affective and
psychomotor (A) Ristiol (sllol) eucucis 249)
(B) Cognition, conative and AHalIFIRs
metacognition

(C) Cognition, observation and (B) istlet, U Riv21s 49 Rsstiel

interpretation (C) Risgtlel, ViAot A Vielei2of

(D) Cognition, assessment and

interpretation (D) Rstiol, SRR 2Ha vu2ol
77. Which is true for holistic rubrics ? 77. Ada1d) :stseicu 2ol &i 'dlﬂ'
817

(A) Scoring is faster
(A) dyelisel ag xs\d) 8

(B) Rigt s2anii 208 sy A D
(©) ariRia yeisal #i2 2urj B

(D) Gives formative feedback to the (D) Riaielfza RraiTencas ulrive
students AN

(B) Requires less time to achieve

(C) Good for summative assessment




78.

79.

80.

81.

A portfolio is not

(A) Collection of stories from books
(B) Collection of student’'s own work

(C) Student's own progression of
learning

(D) Authentic representation of learning

Critical pedagogy, a teaching approach,
believes that

(A) The experiences and perceptions of
learners are important

(B) The teacher should always lead the
classroom teaching

(C) Learners do not reason independently

(D) Students’ out of school learning is
irrelevant

Self directed learning aims at

(A) Promoting emancipatory and rote
learning

(B) Fostering transformational learning

(C) Promoting rote and transformational
learning

(D) Promoting emancipatory and
transformational learning

In which city, the main office of INFLIBNET
is there ?

(A) Gandhinagar
(B) New Delhi

(C) Ahmedabad
(D

Ajmer
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82,

83.

84.

85.

Which online repository was launched by
MHRD and NCERT in India ?

(A) MOOC
(B) INFLIBNET
(C) ERIC

(D) NROER

In which of the following models, steps
of formative and summative evaluation
are mentioned ?

(A) ASSURE

(B) ADDIE

(C) D and M Model

(D) Dick and Carey Model

Teacher and students are connected
online always in

(A) Blended learning
(B) Asynchronous E-learning
(C) Synchronous E-learning

(D) E-learning

Which of the following is one of the
objectives of E-Inclusion ?

(A) To make only disable persons
E-literate

(B) To make only non-disable persons
E-literate

(C) To make all E-literate
(D) To make only educated people

E-Iiterte

82. GiRAHi MHRD idl NCERT &Il 8¢/
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86.

87.

88.

89.

What are ‘D’ and ‘D’ stand for in ADDIE
in a proper sequence ?

(A) Design and Development
(B) Development and Design
(C) Design and Department

(D) Department and Development

What is reception, expectancy and
retrieval are associated with ?

(A) Gagne's Nine Events of Instruction
(B) Thorndike’s Laws of learning
(C) Constructivist theory of learning

(D) Behaviouristic theory of learning

Who of the following is not a behaviouristic
psychologist ?

(A) Watson
(B) Skinner
(C) Freud

(D) Pavlov

in which type of conditioning, organism
gives external response ?

(A) Reverse conditioning
(B) Classical conditioning

(C) Operant conditioning

(D) Parallel conditioning
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87.

88.

89.
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90. Which of the following is false ? |

91.

(A) Data are always obtained from
information

(B) Information is obtained from
processed data

(C) Data is raw material for information

(D) Data is a systematic presentation of
raw material that can be processed
to get information

Which two of the following are correct
matching of names of Management
theories and their Author ?

Management Name of
theory Author
1. Scientific Fredrick
Management Taylor
Theory
2. Administrative Elton Mayo
Management
Theory
3. Bureaucratic Max Weber
Theory of
Management
4. Behavioral Henry Fayol
Management
Theory
(A) 1 and 2 are correct but 3 and 4 are
wrong
(B) 1 and 4 are correct but 2 and 3 are
wrong
(C) 1 and 3 are correct but 2 and 4 are
wrong

(D) 2 and 3 are correct but 1 and 4 are
wrong
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92. Which two of the following are wrong
about the management techniques ?

1. Bench marking for quality
management

2. Planning Programming and
Budgeting System (PPBS) for
financial management

3. Programme Evaluation and Review
Technique (PERT) for planning

4. Strengths, Opportunities, Weaknesses
and Challenges (SWOT) analysis for
time management

(A) 1 and 3 are wrong but 2 and 4 are
correct

(B) 2 and 3 are wrong but 1 and 4 are
correct

(C) 3 and 4 are wrong but 1 and 2 are
correct

(D) 1 and 4 are wrong but 2 and 3 are
correct

93.

Which one of the following is false about
transformational leaders ?

(A) Arouse emotions in their followers
which motivates the followers to act

(B) Work within the organisational culture
as it exists

(C) ls proactive and forms new
expectations in followers

(D) Possesses good vision, management
skills to develop strong emotional
bonds with followers |
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94.

95.

96.

Which of the following is assumed by
‘Theory-X’ of leadership ?

(A) One should place confidence in one’s
subordinates

(B) Subordinates need to be dictated
what they are supposed to do

(C) People are self motivated

(D) One should give responsibilities to
one’s subordinates

Which one of the following is wrong about
Managers and Leaders ?

(A) Managers do things right, leaders do
right things

(B) Leaders inspire, Managers control

(C) Managers are rule oriented, Leaders
are outcome oriented

(D) Managers are focused on ‘what and
why’, Leaders are focused on ‘how
and when’

In the words of &

means knowing exactly what you want
men to do and seeing that they do it in
the best and cheapest way”.

Fill in the above blanks with ghe right
options from the following :

(A) Henry Fayol, managemeht

(B) W. Taylor, Scientific management

(C) Harold Koontz, administrative
management

(D) W. Taylor, management
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98.

99.

100.

Which part in quality management is the
critical part ?

(A) Process thinking

(B) Performance measurement
(C) Customer’s view

(D) Systematic approach

Which of the following options is correct
regarding ‘Quality Assurance’ (QA) and
‘Quality Control’ (QC) ?

(A) QC is an integral part of QA

(B) QA is an integral part of QC

(C) QA and QC are independent to each
other

(D) QC may or may not depend on QA

What are the two types of change
management ?

(A) Real change and superficial change

(B) Incremental change and circular
change

(C) Radical change and transformational
change

(D) Incremental change and
transformational change

Who developed a three step model for
change that included unfreezing, change,
refreeze ?

(A) Kurt Lewin
(B) Ralph Tayler
(C) Allport G. W.
(D) Wilson S.

97.

98.

99.

100.

ajalelril cqciReUMNotal 5 I

sdisdleidl (al1%gs) © 7
(A) MBI 20N RKuR
(B) sindlgf aAvel
(C) 2ue8dll sfte

(D) Mglacig il

“spateteitell widd)’(QC) el ARt
[risier’ (QA) ol 2ieckiiofidetiaiiel
sA) Ruseu AN 8 7

(A) QC A QA ol 2ildodl ciol &
(B) QA 3 QC ol ildiodt 112 B
(C) QA 2a QC Ascfiwell dal 8
(D) QC A QA W hiERa g el

U3 D ia o uel A

yqUMNel URddclell MSIA 8l B 7
(A) diRdfis uRddel 2ia GWR 21cq|
yRade

(B) glaeNa uRadel 2id adausr

yR4dat
(C) 2ie uRadel 21a cAqElls

yRddel
(D) glaeNa yRadel id qgiRs

yRadoet

olR¥21, URadet ia Afevel
disnd uRada Hizg P
el A RusAicy &d ?

(A) 82 Afdel

(B) 3¢§ 2RIGR

(C) WANE 9.501¢Y

(D) RicRiat, A




Space for Rough Work




